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PRINCIPLES OF ACCOUNTING PAPER-II (COMMERCE GROUP) (NEW SCHEME)
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Note: You have four choices for each objective type question as A, B, C and D. -qﬁd’)}.;uw{.;{gw
The choice which you think is correct, fill that circle in front of that question number. Use marker or pen
to fill the circles. Cutting or filling two or more circles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay
(1) Single Entry System records only:- (A) Personal & Nonpersonal Account :lal/gf;jéuigf;( -9b/@1@/f/d}lgﬁ” (1)
(B) Personal and Cash Account :la@ulgf; (C) Real Account :lf&f (D) Real and Personal Account :l[gf/f;iu““f?

(2) Single Entry System of book keeping is generally followed by:- -‘LJUG'/?MW_,@/J(LU}U%’ (2)
(A) Joint Stock Company d{d;l./f"/&‘ (B) Small Business Concern < bl bd_sZ
(C) Large Scale Business s6L 2 ke 4 (D) All three U )

(3) If gross profit on sale is 20 % and cost of «Lﬁfﬁ:d/ébfrl}?‘a%u 200,000 .:,55/'&@/;!9 % 20 /?ﬁ}ét?rl;ﬁ (3)

goods sold is 200,000 then the amount of gross profit will be:-

(A) 50000 (B) 30000 (C) 60000 (D) 40000

(4) The business of Joint Stock Company is managed by:- -L/;Z_Ug/gugt{d{d;t./f}i‘ (4)
(A) Shareholders ¢L.=> (B) Directors J 15 (C) Creditors »#?} (D) Debtors %/

(5) The Owners of Joint Stock Company are:- -wuéhi&%}t/f}j‘ (5)
(A) Promoters J/"n/? (B) Creditors al}u"} (C) Debenture Holders LA (D) Shareholders L /s.2

(6) The minimum number of members in Private Limited Company is:- -‘L&miﬁﬁ'[d/wﬂ;ﬁédfﬂﬂq}fg (6)
(A) 2 (B) 10 (C) 20 (D) 50

(7) Minimum number of partners in partnership is:- -‘a&mlﬁﬁiﬂ/fﬁuﬁ/gug&/ﬁ (7)
(A)2 (B) 10 (C) 20 (D) 50

(8) Partnership deed is rigestered under the act of:- -:,ﬁcam;"/‘?/;f%,‘vb»uﬁ/gu{&(ﬁ (8)
(A) 2010 (B) 1932 (C) 1925 (D) 1984

(9) In banking busniness under partnership the number of partners is:- -+&n;'ﬁdig/“4_£/gut{5w&u:¢ﬂ; (9)
(A) 50 (B) 20 (C) 10 (D) 25

(10) Del-credere Commission is received by:- -‘aL”/U/)uﬁzf Del-Credere (10)
(A) Debtor u‘;/"“ (B) Consignor J’/ (C) Creditor u!}d‘} (D) Consignee .“J!J”/

(11) ___ sends the consignment goods. «Lalffi”v”/dt 11)
(A) Consignee JI»  (B) Consignor J7 (C) Debtor %/ (D) Agent 4/

(12) The basic object of non-trading concern is:- -Lém,»ﬁ”d:y:t{uub@/li} (12)
(A) Advertising /f“ (B) Public Welfare éMdif (C) Having votes L‘/’U"la:m (D) All three (L@

(13) Income and expenditure account records:- -‘Lt'/'/j/@/:u/g&l?’j’/}'&AT (13)
(A) Debtor and Creditor »#(?A A4 (B) Assets and Liabilities UL/l s b 261
(C) Expenses and Incomes (b4 Tsl= bl (D) All three Us*

(14) Depreciation is recorded in busniness account books as:- _ /%%&lgd/ﬁ’/@/uffgfg&%id//p%&y) (14)
(A) Income &ﬂ (B) Expenses =bl7l  (C)Assets =bzt (D) Liability (sl

(15) The method of depreciation under which the amount of -‘a&"/uﬁq..gf:uqﬁy}db%cﬁéu@@/ub/dir) (15)

depreciation remains constant every year is:-

(A) Fund Method ¥ F§% (B) Diminshing Balance Method /3 46
(C) Straight Line Method 3 462 s (D) All these Lz
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